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PART—A
GENERAL ABILITY AND INTELLIGENCE

1. Which one among the following metals is Which of the statements given above
not a ferromagnetic material? is/are correct?
{a) Cobalt (@) 1 only
(b} Silver (b) 2 only
fc) Iron {c) Both 1 and 2
(d) Nickel (d} Neither 1 nor 2

5. Which of the following are the major
contaminants from industries and
households that cause cultural
eutrophication?

2. What is the length of a simple pendulum,
which has a frequency of 0-5Hz
{take g =10 m/s?)?

(@) 1m (a) Chlorine and aldrin
() 2m (b} Mercury and nitrates
¢/ 1:5m (c) Nitrates and phosphates
(dj 3m (d) Phosphates and ammonium
3. Ecotone is a 6. The arrangement and distribution of

(a) diversified ecosystem flowers over a plant is called
(b) transitional ecosystem (a) flowering
(c) transparent ecosystem (b) inflorescence
(d) stagnation ecosystem (c) thalamus

(d) aestivation

4. i followi tat ts about
Consider the following statements abou 7. Lichens represent the  symbiotic

stem cells : relationships between algae and fungi.
1. Stem cells have the potential for The algae component present in lichen

self-renewal via mitotic cell is best known as

division.

. (a) mycobiont

2. In 1908, James Thomas and his

colleagues first derived human (b} phycobiont

embryonic stem cells from donated () prion

blastocysts through in vitro

fertilization. (d) symbiont
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8. IJSNE F 5 TWEA (99mW) @ N oA S 12. F=faifga 4 9@ ®9-w1, & Wifes afads =
3, W I BA FEd &1 Wh G I JaTE BY

! (a) F B TN

(a) GaU 3R W
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(b) W I Few
4 o (c) % w1 faemn
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(d) TE
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9. T35 [wrllal T W ¥ frmmw sin 13. i
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T AT b 4w
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(a) B B (b) S &R
(b) A FfH (c) ST
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15. frafafaa awt & @ frod gEem (F23W)
I {7
11. 99 ¥ 6ie1 & T9EHS g7 w1 §? e ¥
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(@) NaHCO,
(b) Na,CO, (b) T
() Na,CO, - 10H,0 (c) AESH
(d) NaOCl (d) A
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8. Fruit formation from the thalamus
instead of ovary is known as false fruit.
The most common examples are

fa) orange and mango
(b} mango and banana
(c) apple and strawberry
(d) guava and cherry
9. The process of degradation of humus by

some microorganisms and release of
inorganic nutrients is known as

{a) eutrophication
(b) mineralization
{c) 'humification
(d) stratification
10. Which one of the following human cells is
devoid of a nucleus?
{a) Nerve cell
(b} Bone cell
{c) Red blood cell

({d) White blood cell

11. The chemical formula of washing soda is
{a) NaHCOj;
(b) Na,COg
(c) Na,COj3-10H,0

(d) NaOCl

KASC-A-GIP/55A

12. Which one of the following is an example

of a physical change?
{a) Ripening of banana
(b} Souring of milk

{c) Melting of ice

(d) Passing CO, gas into water

13. Rhizobium is a

(a) biopesticide
(b) Dbiofertilizer
{c) bioherbicide

(d) mycoherbicide

14. A solution has a pH value around 13-0.

The solution may be called
(a) a strong acid

(b) a strong base

{c) neutral

(d) a weak acid

15. Which one among the following elements

has the highest catenation property?
{a} Silicon

(b) Carbon

{c) Nitrogen

(d) Oxygen

[P.T.O.



16. ¥-3® % Hay #, ffafgs w1 w few 18. fafafigd & & #9-9, ufim H R 87 aeh

$ifse & Tt 87
1. W 8 km-10 km % faqga o @i -
o 2, S T % s W Rrarfes fifre (@)
% TR eft g8 B (b)
2. W, @ gu Fafte g sk Tu
welie A IF 92 R (c) Eh
I FUE A § BA-A/PA-Q 7@ R/ (d) G
(@) FEa 1
() e 2 19. wra ¥ ffafgs & @ FF-w R gR 9@
c) 13 2 e R e 37
(d) I 1WA 2 @ A
17. -1 ® -1 & @ gafem difve ok (b) e
gt % R R e =1 W= W ad s® .
3 : (c) TRE
d) ¥R
e o (d)
(srfae 3rmaer) (=oft)
A. femgsmEm 1. wei 20. fFafafaa simfos zmeit w faew fifve
B. a1 s 2. AmgEEE @il 1 qaty A e Sem, S6
C. gt 3. 3= YOt g, aUEE 15 °C-28 °C & 9 3R
D. et . 9l 150 cm—250 cm & 9 MR I=E #
ferrwr 600 m-1600 m.
e I qmelt ®, fafafaa & @ - wow
{a) A B C D W%?
3 4 1 2
) A B C D (a) I3
3 1 4 2 6
) A B C D ®)
2 1 4 3 ©
@ A B C D
2 4 1 3 (d) &N
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16. Consider the following statements 18. Which one among the following is not a
regarding landscape : west-flowing river?
1. Bhabar is a narrow belt ranging )
between 8 km-10 km parallel to fa) Mahi
the Shiwalik foothills at the break-

up of the slope. (b) Banas
2. Bhabar is a belt consisting of old (¢ Luni
and new alluvial deposited by
rivers. (d) Sabarmati

Which of the statements given above

is/are correct? 19. Which one among the following cities in

{a) 1 only India is located at the Northernmost
latitude?

(b) 2 only

{c) Both 1 and 2 (a) Sri Ganganagar

(d) Neither 1 nor 2 (b) Nainital

17. Match List-1 with List-II and select the (c) Gangtok
correct answer using the code given
below the Lists : (d) Itanagar
List-I List-I .

(Natural disaster) (Category) 20. Consider the following geographical
conditions :

A. Blizzards 1. Terrestrial

Well-drained, rich friable loams
containing good deal of minerals,
temperature between 15 °C-28 °C and

B. Soil erosion 2. Atmospheric

C. Tsunami 3. Biological :
rainfall between 150 cn—250 cm and
D. Locusts 4, Aquatic altitude variations from 600 m-1600 m
Code :
Which one among the following crops is
(@ A B c D suitable under the above conditions?
3 4 1 2
(b) A B C D (a) Tea
3 1 4 2
(C) A B C D (b) Coffee
2 1 4 3
{c) Coconut
d A B C D
2 4 1 3 (d) Cashew nut
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21. R e § B aftrert e e wRe 37 24, G-l ® -1 & @ gafm Hifm ik

gt % 9 e g =1 wEm W |/ W
{a) A St ﬁﬁ'{:
(b) I IR -1 Teh-1n
(SR (a<e T @)
(c) T WEER I A T 1. USRI
B. § 2. 3ieHM v FreEw fuwE
(d) YA e = .
C. fim 3. NG
D. SRal 4. feue =W
22. WRd # fefafga & @ |*9-a1 TN, =@ T :
a1ftrw st & |y o | e 7
@@ A B C D
(@) IR 2 3 1 4
. ) A B C D
(b) dE 2 1 3 4
(c) TG ) A B D
4 3 1 2
(d) m@m
d A B C D
4 1 3 2

23. wra #, Pefafed § ¥ ww-w ©W
dy-fafnr  (eriegfera) s@m & R 25. fefafad #§ 4 @9-a1, g ofm 9@ Sy

Haga % forg o e 87 25 T 27

(@) & (a) fer-geft arfesfern
(b) Tad (b) IR-ufEm 9

(c) Féd (c) =Efee

(d) TR (d) SW-ufsm sufis
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21. Manikaran in Himachal Pradesh is better 24. Match List-1 with List-II and select the
known for correct answer using the code given
below the Lists :

{a) bioenergy

List-1 List-IT
(Tribe) (Dominating region)
(b) paper industry
A. Gaddi 1. Rajasthan
{c) food processing industry B. Munda 2. Andaman and

Nicobar Islands

(d) geothermal energy
C. Bhil 3. Jharkhand

D. Jarawa 4. Himachal Pradesh

22. Which one among the following States in
India shares a boundary with the most

number of States? Code :
{a) Uttar Pradesh @ A B D
2 3 1 4
Tel
(b) Telangana wa B ¢ b
2 1 3 4
{c) Chhattisgarh
g0 A B C D
{d) Assam 4 3 1 2
(d A B C D
4 1 3 2

23. Which one among the following places in
India is known for its association with
the pharmaceutical industry? 25. Which one among the following is not an
area of Marine West Coast Climate?

(a) Ballarpur
(a) South-Eastern Australia
Pimpri
) P (b) North-West Europe
(c) Sindri (c) New Zealand
(d) Mettur (d) North-West Africa
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26. T VAU EH & weM #, Frafafga 4 @

H-91 HYA G Tl 27

(@) ¥ TEEEl ¥ gaw ® qEE: T oA
THIRT ST 9T

(b) VUM Td HE - alihl @ S
M 9|

() T vEmE § -t smpw @ @
q1e Y B

(d) TSOEE YAkl F WU YO AE THAQ
O

27. TR * T 4, fafafae wut ® ffEwr

Hif -

1. T N [F-r-FGd % W A
ST ST 2

2. P sftmivE: % ot 9, sfes
& IR TN % &9 A i §

I F A A A/ R
(@ Fa4 1

(b) ¥ 2

(c) 1323

(d I 13MA& 2
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28. 1885 # at YEISH! WIRMEE & WA A T

¥ F e @?

(@) TR A
(b) TR S

(c) ¥ IR T
(d) To Sflo TR

29. fafifega d @ #F, W w@ ¥ wifead &

JferEm Afta #1 e Tt a?
(a) @rfaTE

(b) WER

(c) wum-FTEEs

(d) SUH-Flcrs

30. wRa ¥ 184t 3k 104 warfsat & wen @ P

o % 329 & Gy A, Frfafge st w
%Hﬂiﬁfﬁm:

1. fifém Ju wd foan & wawr, ik snyfe
fromt * SfawarE A WRdA gHReSiEd |
ggHar #i|

2. FUR AR 3 d@ § wi o #i
wign fasfim 0 o ggEa )

I el # A BE-T /- /R
(@) Faa 1

(b) F 2

(c) 1323

(d Fa13Mmad2



26. Which one

among the following
to the

Harappan burial ritual is not correct?

statements with reference

(a) At these burials, the dead were

generally laid in pits.

() The burial pits were made in
several different ways.

(c) Ornaments have sometimes been
found placed in these burials.

{d) Harappans did not bury mirrors
with the dead.

27. Consider the following statements with

reference to Rudramadevi :

1. Rudramadevi is also known as
Raya-gaja-kesari

2. The inscriptions largely project her
as a heroic king not queen.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

KASC-A-GIP/55A
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28. Who among the following was involved in

the formation of the Bombay Presidency
Association in 18857

(a) Pherozeshah Mehta
(b) Dadabhai Naoroji
(c) Allan Octavian Hume

{d) M. G. Ranade

29. Which among the following was not a

member of the Adhishthana Adhikarana
of Kotivarsha in the Gupta period?

(a} Sarthavaha
(b) Mahattara
(c) Prathama-kayastha

(d) Prathama-kulika

30. Consider the following statements about

the emergence of national conscious-
ness in India between the 18th and 19th
centuries :

1. The spread of printing press and
education, and inflow of modern

ideas helped Indian regeneration.

2. The reform movements helped
develop a sense of national unity
among the people.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



31. =9 1 % et # quia T agiverey w0 R? I FoEl A A BA-T1/PA-0 T B/E

(a) T TS Jeadwe deh (@) &9 1

(b) Fa« 2
(b) T Ah-7F deh

(c) 132 <M
(c) TTHE 1 TH TIh-FY (d @ 13mad2

(d) TF aId G
34. @ w1 Ffeomyfd (fam-meh) wa w0 Twiar 87

(a) TRIEE TaF (FHiers L)
32. yfdwen # A A F TGN Ik T9-778H ®9
¥ Zwfen ST )| I W T9-TEH) ®9 F 9N (b) 30 g (HAT FIE)
¥ fafafea wuat w foer fif © (e 3r)

1. ot Treme wd & .
A .m@eﬁ ! (d) TEEfTY (@ oFfE deE)
2. I a1 il # 2 g4 )

I FeE # ¥ BA-w1/A-R T ¥/E 35. 1942 ¥ ‘wr@ JRE TEW F vy #,
frafaftaa st = famm fifse .
(@) FaF 1 1. 39 U F GEuHgES daR R
o1 ATk I8 T | % 6 I8 wRa & gl
(b) FaA 2 B % U9 Jg HA T | § miva
a1 ¢ 3R fim ugl (dgs UP) F Oy
c) 1328 quiq: w81
2. oY fsm @, e & oft ant &
(d) Fd@13MAE2 yfafiftet @ s+t wrdie oFfon R &t
il Tl 9 < srdfiet i)
IR FoE @ BA-a /-2 wd
33. A & Rroerg! & Waeie w@isw & fawg 4,
frfrias st w frem Hifve (a) %= 1
1. wrwen fiemera, e g o freen (b) Fa 2
T, SRl i T 1 #) g ai
2. dfter W ® errgan e amus o) 1R 2
M & (d Fd1mad2
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31. What is Hallisalasya as depicted in Bagh

cave paintings?

(a) A classical dance form
(b) A folk dance form

{c) A folk form of theatre

{d) A percussion music instrument

32. One of the frequent representations of

Shri Lakshmi in sculpture is in her
Gaja-Lakshmi form. Consider the
following statements about 'such
Gaja-Lakshmi form :

1. The goddess sits or stands on a
lotus.

2. She is flanked by two swans.

Which of the statements given above
is/are correct?

{a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

33. Consider the following statements about

the historical evidence of inscriptions in
India :

1. The oldest deciphered inscriptions
are in Brahmi and Kharoshthi.

2. The earliest inscriptions in the
Tamil language are copper plate
grants.

KASC-A-GIP/55A

Which of the statements given above
is/are correct?

{a) 1 only
(b) 2 only
{c/ Both 1 and 2

(d) Neither 1 nor 2

34. The Dakshinamurti (South-facing) form of

Shiva represents

(a) cosmic dancer
(b} ferocious warrior
{c) universal teacher

(d) lord of beasts

38. Consider the following statements about

the ‘Quit India’ Resolution of 1942 :

1. Its text was carefully drafted to
make it clear that it put India
among the countries at war with
the Axis Powers and fully aligned
with the Allied Powers (United
Nations).

2. It called wupon Britain to
immediately hand over power to an
Indian Provisional Government
composed of representatives of all
sections of the population.

Which of the statements given above
is/are correct?

{a) 1 only

(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



36. vrd #, ffafaa fvw smur w9 w1 &

gay 3 Yara Ifeal & Aa4 3l w0 fRu
1 EFa &7

(o) Tt 3mm

(b) afe iy

38. 3t yw Iow 2 5 @ wEe wew g

102(1) & aftfa et P A T @ @ 2 @
T, @ 7 A I il e =0 %
TYh 87

(@) WG 1 Ugefd

(b) MR T TEHEA

. ) (c) T BT AR
(c) Tt v=a & wifgwfe & w1 fasa &

h (d) VRa = g <Afd

(d) aEwtyEs e = gw
39. U9 awl # Tifae afafq it 9% % fom

Torgfd () T geit?
37. Frfras § A B, 757 T B I AR (@) ¥

3 /=iferat &7
(b) W=

1. o9 faoas gl w0 4 wfe

2. T g & et v A wia wem (c) ¥H

fowa =iftm &=

(d) @@

3. ¥RA & TPUl W AR S

Frar faw e 2 1w R w s g 40. A @M W AR (NITH) SEW g
wireafig 0 & foe wfmea &1 dweq fem
@ 1,233 aq e foRe TR an?
(@) 2014
(b) a4 2
(b) 2015
(c Faa 233
c) 2016
(d) Faa 1 (d) 2018
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36. In India, on which one of the following 38. If any question arises as to whether a

grounds can the salaries and Member of the Parliament has become
allowances of persons serving in subject to any of the disqualifications
connection with affairs of the State be mentioned in Article 102(1), who among
reduced? the following is empowered to take the

final decision?
(a} Financial emergency
(a) The President of India
(b) Internal disturbance
(b) The Prime Minister of India

{c) Failure of the -constitutional
machinery in a State (c) The Speaker of the Lok Sabha

) . ) (d) The Chief Justice of India
(d) Degradation of public morality

39. What is the quorum for a meeting of the
Committee on Petitions of the Rajya

Sabha?
37. Which of the following is/are exclusive abha
power/powers of the Rajya Sabha? (a) Three
1. The power to initiate a Money Bill
(b) Five
2. To declare a subject in the State
List as a subject of mnational {c) Seven
importance
({d) Ten

3. To impeach the President of India

Select the correct answer using the code 40. In which year was a Cabinet resolution

passed to replace the Planning
Commission with NITI Aayog?

given below.

{fa) 1, 2 and 3

(@) 2014
(b) 2 only (b) 2015
c) 2 and 3 only () 2016
(d) 1 only (d) 2018
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41. ffaflaa & @ frm fafte @ &1 ad ‘@ () T, W & Tsaad A Tt =afe &

ARY A} E 7Y faftr & vmg woa @ afea & ®om)

(a) BLIY FIH (d) TS, 9RA % Toa8d & -amia
faftr & guy guar @ afeq &+

(b) #Hemm

(c) AT e gy

44, THa IRl & gEvE giwon & Peafefaa
qrauE & 4 -0 I8 dEa & B e

(@) T R 5 5 =R ® W, @dEa Ik R f owan =
AftmErR 77
42. WRA ¥ Frfifaa § ¥ fra voa # Rum ieg (a) ¥R 1
i 27
(b) TR 2
(@) faEr
(c) I=E 3
(b) dfam Sme
(d) I 4
(c) FR IR
(d) ieH
45. fFafafga # @ FR-d w0 9Ra & G@fauE 6
3t e o it i 27
43, VRd & WA ¥ AW 14 & IJPER, (@)
fFrafafaa # @ F¥9-w a@ off 7
(@) Taft & Tny gua Faa TRA F AT )
F TN B
(c) Heveft
(b) T WRA & Twaad # fh =t &
faftrat =51 T s gffia s 21 (d) <EE
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41. Which one among the following legal (c) The State shall not deny to any
maxims means ‘we command’™? person equality before law within
the territory of India.

(a) Habeas corpus
(d) The State shall not deny to
(b) Mandamus non-citizens equality before law
within the territory of India.

(c) Audi alteram partem

(d) Non bis in idem 44. Which one of the following provisions of
the Universal Declaration of Human
Rights states, “Everyone has the right to

life, lib i »P
42. Which one of the following States of India e, liberty and security of person

does not have a Legislative Council?

(a) Article 1
{a) Bihar

(b} Article 2
b) West Bengal

(c) Article 3
(c) Uttar Pradesh

(d) Article 4

(d) Karnataka

45. Which one of the following languages is
not included in the Eighth Schedule of

43. Which one among the following is not
the Constitution of India?

correct as per Article 14 of the
Constitution of India?

(a) Bodo
{a) Equality before law is guaranteed
to citizens of India only. (b) Maithili
(b) It secures for any person equal (c) Santhali
protection of laws within the
territory of India. (d) Ladakhi

KASC-A-GIP/55A 17 [ P.T.O.



46. T% HUAl AW ™ T @ fit TvEr faard

IMYR | A &1 ot B 9 semma fanfet
# 25% ™, 20% T 3R 20% TR A R\
Fo B Deft fordt § ~am feen @™ @
forat BT B =TT i 3@ For foremem i
o1 T /Y

(@) 20% @™

(b) 20% TR

(c) 25% @™

(d) 25% &

47. Fefafga rea = 7@ 1 27

1 1 1

(J§+ﬁ)+(J§+J§)+(JZ+J§)+"'
1

" 100 +v99)
@ 9
(b) 8
7
d) 6
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48. Fefafiga Tvea w fa=ar i :

49, afe

@37 +46@ + 5@3 = 1@ @
Iod Aee # @ Frafafas & @ e frefa
T 87
fa) ®f =i R
(b) FaA WA IR F

(c) Faa fm it

(d) Tl o7 & T

625 =@,?ﬁxwmw%?
0-625 x

(a) 0-0625

(b) 0-00625

€) 625

(d) 0-000625



46. A company calculates its profit or loss 48. Consider the following sum :
quarterly. The company makes 25%
profit, 20% loss and 20% loss in three @37 + 46@ + 5@3 = 10@@
consecutive quarters. What minimum
profit or loss should the company make
in fourth quarter to have no loss
overall? In the above sum, @ stands for which

one among the following?

{a) 20% profit

(b) 20% loss (a) For all digits

O,
(c) 25% profit (b) For even digits only

d) 25% 1
(@) 0 f0sS {c) For odd digits only

(d) For no digits
47. What is the value of the following sum?

1 1 1
(ﬁ+ﬁ)+(ﬁ+ﬁ)+(ﬁ+d§)+"'

1

' (100 +/99) 49, If 625 _ gs-, then the value of x is
0-625 x
@ o fa) 0-0625
b 8 (b) 0-00625
© 7 fc) 625
@ 6 (d) 0-000625
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50. &1 w=URT R 20 At & fow sqar s &1

30 foAl % fo 9= 3 ¥g wiw 1 98 iy

53. uF wifre % 3o @@ wmf B, S W *

o x f&mt % forg v 21 20 & & @@, dw

I B ey fra A % fw 3w 1 g F 25% G M B [ B I @ ™ T

atw grfi? A @rg GrEl, N9 T B I x foAl @
Rget & fore wate 81 x 1w @ 27

(@ 12f&
(a) 80

(b) 15 A ® 72

(© 11fF © 60

(d) 20 f= @ 40

51. forh =g & g @ SR AP @ & fiw =

2 2
54. AR x:y=3:7 @ DX TFUHY oy

A 7:4 B 30 g F A 3N AR [H xy
& i 1 U = R? TR 27
62
(a) 3:4 (a) 21
(b) 4:3 61
®) 1
fc) 5:4
63
[d 7:3 © 2
64
@ -7

52. T& 31 90 km/h & fa @ == & &, Swh
@8 335m 21 W W W 290m =

AT N AR F 3 f g 55. af xH Jx % 80 &, @ x ¥ &7
(@ 25s (a) 100
(b) 23s (b) 200
(c) 20s (c) 400
(d) 30s (d) 800
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50. An amount is adequate to pay salaries to 53. Assume there to be some foodstuff that is

R for 20 days or to S for 30 days. For sufficient for a team for x number of
how many days is the money enough to days. After 20 days, 25% of team
cover salaries of both of them together? members happen to quit. It is observed

that the remaining foodstuff is sufficient
{a) 12 days to feed the remaining members for
another x number of days. What is the

(b) 15 days value of x?
() 11 days (@) 80
(d) 20 days (b} 72
(c) 60
81. The ratio between the sale price and the (@) 40

cost price of an article is 7:4. What is
the ratio between the profit and the cost
price of that article?

2 _ 2
S4. If x:y=3:7, then 6x” ~2xy+y is

Xy

(@ 3:4 equal to

62

(b) 4:3 @ -3
S:4

“ m 2
d 7:3

63

() 51

52. A train with a length of 335m is
travelling at a speed of 90 km/h. What d)
is the time taken by the train to pass a
290 m long platform?

64
21

85. If Vx % of x is 80, then what is x?

(@ 25s (@ 100
() 23 s (b) 200
() 20s (c) 400
(d) 30 s (d) 800
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56. WA HAV v weErsit 1 sfwd 13 B Al 4 e R 27

59, —— —
el i A eAgel weEsd w1 o wfve 1+42+43
X forn s, | SR T ofvea w dm?
fa) Jv2-J3+2
(@) 15-0
(b) 145 (b) V2+43+2
(€ 13-5 (c) ¥2+J6+2
(d 13-0
(d) J2-J6+2
57. & =i IR fem A 7 km T g, 3R W
78 7 &t 3T 4 km s § a1 fR fao R
3R 4 km Ie1 §1 3@ I8 e q@ ol |
foreft g ofk form foram + 27
(@) 5 km TRur-gd fem # 60. Frfefiga Hurt iv freael w e it
(b) 5km IW-Yd fewn A FHI1:39 P, Q&I
(¢ 15 km Y@ fwn # 3ir %9 11 : ¥9% R, Q 2l
(@) 7 km SR fm 1 3R i 1: 995 P, REI

e 11 : 5o R, PRI
58. f=fufga o & @ 9w, 273" # E

wH ) W oft 7 B gwar, @ n @ Sgw el & @ F9-w/aa-8 ffde wv a
TR qUIfeh B7 e s e B /Pl W wd 27

(@) 1 (a) @ fewd 1

(b) 3 (b) == Frewd 11

c) 5 c) Trepd 1 v 11 9

d) 7 (d) IafeisRadn
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56. The average of seven consecutive natural

numbers is 13. If the next three
consecutive natural numbers are also
included, the new average will be

(@) 15-0
b) 145
(¢) 13-5
(d) 13-0

57. A man walks 7 km in the North direction.

He then walks 4 km Eastward, and then
4 km Southward. How far and in which
direction is he now from his original
position?

{a) 5 km in South-East direction
(p) 5 km in North-East direction
{c) 15 km towards East direction

(d) 7 km towards North direction

58. Which one among the following digits can

never be at the units place in 273",

where n is a positive integer?
fa) 1

(b) 3

© 5

(d 7
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59. 1+J2+J3

is equal to

(a) V2-J3+2

) J2+J3+2

(c) J2+J6+2

(d) 2-J6+2

60. Consider the following statements and

conclusions :

Statement I : Some P are Q.

Statement II : Every Ris Q.

Conclusion I : Some P are R.

Conclusion II : Every Ris P.

Which of the above conclusions can be
certainly drawn?

{a) Conclusion I only

{b) Conclusion II only

(c) Both conclusions I and I

(d) Neither conclusion I nor II

[ P.T.O.



61. ffa Meadt # fFmfafea 4 @ fem a9 o 2 e T Fe F W@ R @ IR g
T GEHR (2023) foren?

(a) a1
(a) wifd b 2
(b) TR (c) 1322
(c) AT (d F@1MMAE 2
(d) -

64. Fefafea 3 @ fad g0 wRmE |4, 2023
ol qes St Tt A w1 Id w A G

62. G20 ¥ fawx #, f=fafea # /@ F=-w/FA-] s it T 27

wét B/&?
1. T 9 wRh whmaes 7@ ) (a) UM, R, HRE TRST

2. ¥ 20 videy Mefie I & wem

. (b) TYH, FHRIT W, WA
faftr: srey simidie sw g wnfta 21

3. ¥ ¥w A ek e (e) IR TSI, T, S
4. G20 A TR @ ‘wrh AfafE’ § ¥ (d) WRQ, FRAT TR, A
-
A9 faw e ge w1 v R w W g 65. Prafufaa § 3 FRd/fd 2023 3 T fim
U T /Xyt & &9 § ifa foper man?
(@ 132
1. odE, e
(b) F 4 2. SR I AFEen GfR
© 334 3. wifafveham, afdm e
4. WO HIR
(d) 13R3
= fw T g2 = W@ W wE W ghud

63. TH @ feaw ¥ fva 7, Frefrfan o 4 4 (@ 132

FT-q1 /-2 Tl /7 (b) ¥4 3
1. 98 28 HEl &0 S R

2. Y§ W wyF<Ee & I dif¥eplcdd T
vgar g1 (d) Fa= 23R 3

() 2,334
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61. Narges Mohammadi received the Nobel
Prize (2023) in which one of the
following fields?

{a) Peace
{b) Physiology
{c) Medicine

{d) Chemistry

62. Which of the following is/are correct
about G20?

1. It has no permanent secretariat.

2. It was founded on a legally binding
international agreement between
20 top industrialized countries.

3. Each country is led by a Sherpa.

4. Spain is one of the two Permanent
Invitees’ to G20.

Select the correct answer using the code
given below.

(a) 1 and 2
(b) 4 only
{c) 3 and 4

(d) 1 and 3

63. Which of the following statements about
the National Sports Day is/are correct?

1. It is observed on 28th February.

2. It coincides with the birth
anniversary of Major Dhyan Chand.

KASC-A-GIP/S5A
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Select the correct answer using the code
given below.

{a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

64. Which one of the following represents

the correct sequence of countries in
ascending order of Gold Medals won
in the Asian Games, 20237

(a) Japan, India, Republic of Korea
(b) Japan, Republic of Korea, India
(c) Republic of Korea, India, Japan

(d) India, Republic of Korea, Japan

65. Which among the following was/were

declared UNESCOQO’s World Heritage
Site/Sites in 2023?

1. Dholavira, Gujarat

2. Hoysala Temple of Belur
3. Santiniketan, West Bengal
4

Ramappa Temple

Select the correct answer using the code
given below.

fa) 1 and 2
(b) 3 only
{c) 2,3 and 4

({d) 2 and 3 only

[P.T.O.



66. T, Uk Hawmul q, @ fRawr 2023 °

g M RN dlw o, % foww #@
Frafafga wut w faar Hifse .

1. 3| A wuafe qfmet & ¥,
JeomE w1 o @@ ot dw-aix
EISEiher gaaw T B

2. 79 9 & Fmio @ ok amie sigyEt
& fou wqp-fagm ok pifehie 3@
A A % fore fomam T 21

I FYE § ¥ BA-91/FH-7 9 B/E7
(@ Faa 1

(b) e 2

¢ 1323

(d I 13MMAE2

67. fFfafea 3 & fra ga® 3 g9 &R, 2023

Sfrar?

(@) 3T &I

(b) 2 EEH AE I
(c) THa I 7S frg
(d) e giT

68. WA WHR g wdifsa srEg (o wfio Shto)

% Ieqred I Miewnied A & fog fFforfiaa @

¥ HH-°1 YA Fran o1 @ 2/@N-1 U T

IR

1. «@-Ho TWo o & I & forw gax
wifta FA g w24 foefw wema @m
FET

2. o dto Sfto gfismrRT =1 wufiwar a4
FU % qEd GHAE

3. ufEieEmst # wnfts 0 & R sufim
A % ArTa & forg €i-ges #§ @2
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69. ‘fermn dE-w@ER A

= fow Mo e w1 W@ W w@ W g
(@) ¥ 1 3R 2
(b) Faw 2 3R 3
€ 1,23R3

(d) Faa 1

% fwm 4,
frfafae # @ F9-w1 Fu= af ot 27

(a) & ITTEYE T A 1
(b) & ‘ARUM HEWT GREET WA R
(c) T& THR TSmPi-134 W wFh)

(d) @ fmior wreta wdfta vommt wftreror
T Tk s @ )

70. dflo Mo o flo Wo uwgo & fawy H,

frafafea & @ -1 %@ vt 7 ?7

(@) T A, fam iR areRw & f=
T GIH &9 I R)

(b) TEeh T 2018 & §§ ot

(c) TOH UTA TR SEAg W IR
foran )

(d) 2023 #, IR IA H ST SR @
1 iR Wsle it a1y



68. Which of the following

66. Consider the following statements about

Sandhayak, a Survey Vessel Ship,
which was delivered to the Indian Navy
in December 2023 :

1. One of the primary roles of the Ship
is to make a full-scale coastal and
deep-water hydrographic survey of

ports.

2. The Ship is made to collect
oceanographic and geophysical
data for defence and civil
applications.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

67. Which one among the following books is

the winner of the Booker Prize, 20237
(a) The Bee Sting

(b) The House of Doors

(c) A Spell of Good Things

(d) Prophet Song

is/are the
measure/measures undertaken by the
Government of India to promote the
production of Compressed Bio-Gas
(CBG)?

1. Central financial assistance for

setting up of plants for generation
of Bio-CNG

2. Inclusion of CBG projects under
Priority Sector Lending

3. Concession on customs duty for
the import of machinery required
for setting up of projects
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Select the correct answer using the code
given below.

fa) 1 and 2 only
(b} 2 and 3 only
{c) 1,2 and 3

(d) 1 only

69. Which one of the following statements

about ‘Silkyara Bend-Barkot Tunnel’ is
not correct?

{a) 1t is in the State of Uttarakhand.

(b) ltis a part of ‘Chardham Mahamarg
Pariyojana’.

(c) 1t falls along NH-134.

(d) 1t is being built by the National
Highways Authority of India.

Which one among the following
statements about VINBAX is not
correct?

(@) It is a Joint Military Exercise
between India, Vietnam and
Bangladesh.

(b) It was instituted in 2018.

{c) Its first edition was conducted at
Jabalpur.

(d) In 2023, Indian contingent
comprised the Engineer Regiment
of the Bengal Engineer Group.

[P.T.O.



71. Wi W Fa (o Tho o) & faw 73. wa & w glamsd % wag #, Frfafaa §
A, Frafafea & @ wF-w1 w97 wd 7 87 q HH-W1 FYA a9 T 87

(@ 2012 ¥ &% ¥ 12 REww =N (@) ﬁ'ﬁ?@'ﬂ“ﬁmﬁ (sh-fafeirem)
‘sirigE aEife @R Faw R e T &

RARELUACA] (b) G % Ugafa U w1 witem
(Wo To Telo TWHo Uo) & WHH-TIE

(b) o TIo Hio FI IQH-T (W) T & 8
5 s =fe | e ik =l
W@ ¥4 9% 9g9 YN Q| (c) TS Wl ) @il & forg v 3
faftm wmt ® gafia arftfys <
(c) Taa fawma @Al 1 98 W@ A R &
d A T wEeRiEe e
(d) FEET FEW, A9 waw v ey “%ﬁmg,
T Yo THo HWio F W #|

74. W@ ¥ fFrafafea 4 @ /g 1899 Y 2014-

| o et Rife SR (o 3o Ho To 2015 ¥ 2023-2024 & FN T W
S v, Bt el e - % e St TR g 7
1. Ig 9ol ik HATe, WRA §TR & (@) 39 e
T W= W R % g § 3w
T -0 1 T TEEEA 2| (b) W
2. Sfio 3o Hio To wH IR MEEEH B, S (c) I I
11 3 &F 275 ¥ AR A F-vdd
! Wik T B (d) T W&=
FE | ¥ -1/ ?
e o/ TR 75. UNFccC-cop28 fmfafga ot @ fra wee o
(@ a1 s o T an?
(a) T wE-I@
(b) FadA 2
(b) T
(c) 1 3 23 (C) f
(d) Id@1IRIH2 (d) «F
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71. Which one among the following 73. Which one among the following

statements about Universal Health statements with regard to the legal
Coverage (UHC) is not correct? facilities in India is not correct?
(a) The United Nations is observing (a) Tele-Law is a pre-litigation advice
12th December as the mechanism.
‘International Universal Health
Coverage Day’ since 2012. (b) The President of India is Patron-in-

Chief of National Legal Services

() UHC’s motto is that everyone Authority (NALSA).

should have access to quality and
affordable healthcare. (c) There are dedicated Commercial

Courts at various places in India to

(c) 1t is a central aspect of Sustainable handle commercial cases.

Development Goals.
(d) Some courts in India are paperless

(d) Population coverage, service Digjtal Commercial Courts.

coverage and financial protection

are dimensions of UHC. . .
74. Which one among the following States

in India has received maximum funds
under Sub-Mission on Agriculture

72. Consider the following statements about Mechanization from 2014-2015 to

the Global River Cities Alliance (GRCA) :

2023-2024?
1. Itis an alliance of global river cities
led by the National Mission for (@) Andhra Pradesh
Clean Ganga under the Ministry of
Jal Shakti, Government of India. (b) Karnataka
2. GRCA is a unique alliance covering (c) Uttar Pradesh
more than 275 global river cities in
11 countries. (d) Madhya Pradesh

Which of the statements given above
is/are correct? 75. UNFCCC-COP28 was held in which one
of the following cities?

{a) 1 only {a) Sharm el-Sheikh
(b) 2 only (b) Dubai

() Both 1 and 2 (c) Glasgow

(d) Neither 1 nor 2 (d) Baku
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ai—B

gites *ive
76. Tdo Fo Wo THo A, T TN &S # forw 81
forn T siRpie A @i & fog feafaRaa @
¥ forge s foran st 27
(a) _self (b) _link
(c) _blank (d) _open

77. IfFEdE RE THIfeT Wed & wed 1,
Fo Fo Tho T I T 87
(a) I TERETH BiHe
(b) IS TEHHTH B
() T TEHHETH BiNe
(d) T TR B

78. Awlt # AgaH VA g T R7
(a) fae (b) TR
) T8 (d) F=a

79. Fafafge & 4 FR-w/HN-8 @l feam
3/3?
1. Jwara
2. TEEhN

= fw e % w1 = = A W g
(@) ¥ 1

(b) FaA 2

c) 1323

(d) F@ 1M 2

80. fFft Feqe wureh #, fafgn wemsdt (wge
F) #t frud g Fela oft e s w@a
27
(a) Tufsa wfem (ars Aresge)
(b) T I T (T Hifeerie)
(c) R Y (ZW Flfreie)
(d) ¥ giwm (vee fegs)
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83

84.

85.

30

fedum weh w1

fa) T AR R

(b) § 4R}

(c) TREE 2

(d) eFzeE R

Frafafga & @ S=-a1, 3 & veq w@ faifdn
¥ fore ifRwa @ fren # Tam B 37
(a) TS THI

(b) ER FHW

(c) G TR (A WgL)

(d) I S T THW

Wo THo TFW F1 27

(o) TEuRE (Fewma) o o wio wHo
(b) & o sfto TWo o

(c) Mmef (isR-Mfiwg) o o
THo THo

RIHEE  (TFIWTHFA) o dlo Wio
THo

(d)

3o ThHo ATgo Hisd & foFE T W, e ‘Fdfiet’
yefera a1 27

(a) ffsrara

(m) 3 fa=

(c) e

(d) WSiEE

4A9-2B I TIWTE TH HT 7
(@) 1193:1679
(b) 119-31679
(c) 11931679
(d) 1-1931679



PART—B
PROFESSIONAL SKILL

76. In HTML, which one of the following is
used to open the linked document in a
new browser window?

(a) _self (b)
() _blank (d)

_link
_open

77. In the context of universal character
encoding standard, UTF stands for

(a)

(b} Unicode Transformation Form

Unicode Transformation Format

{c) Unique Transformation Format

(d) Unique Transformation Form
78. The smallest addressable unit of
memory is
(a) Dbit (b) byte
{c} word {d) nibble

79. Which of the following is/are pointing
device/devices?
1. Trackball
2. Touchscreen
Select the correct answer using the code
given below.
(a) 1 only
(b) 2 only
fc) Both 1 and 2
(d) Neither 1 nor 2

80. In a computer system, the signed
numbers cannot be represented by

(a)

(b) one’s complement

signed magnitude

{c) two’s complement

(d) float magnitude
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81. Histogram is a type of
(a} line chart
(b} pie chart
(c) bar chart
(d) donut chart

82. Which one of the following is the medium
in optical storage system for reading
and recording data?

{a) Ultraviolet light

(b) Laser light

(c) Black light

(d) High-energy visible light

83. MS Access is a/an
(a) relational DBMS
(b) network DBMS
(c) object-oriented DBMS
(d) hierarchical DBMS

84. On which layer of the OSI model does a
‘repeater’ operate?

(a) Physical

(b} Data link

{c) Network

(d) Presentation

85. The decimal value of 4A9-2B is
(@) 1193-1679
(b) 119-31679
(c) 11-931679
(d) 1-1931679

[ P.T.O.



86. afm ¥R TFER ¥ wdw §, Peew ¥

ARl i T wed 9w w fww,
3R il wg foreht areemfore aRtfefa & @oma
@ fue § anErEeE | gwar @ iR age d
Aelepiere T I 2 wehal B1

s gan & fou feafafaa 3 & fea
"ol & ug FyA Taiiys I9gE 27

(a) ST
(b) TEAA F I FHaTE
(c) @ F SN HaTg

(d) TR Te-vEEA

87. fedt a3 & 7= R @ fosw =g 4,

freafofaa & @ F9-w1 TR fda T ¥7
(a) Iafeufa Tomex

(b) =TET TR

(c) TR ITRW

(d) g TR

88. U%e aEd (F ) & T A« q=T F

U%g & I0 vy Fafafes & @ fra/fe
qrd/amat & foey W @ Tnfge?

1. ImaRm ghen

2. el gferd st
3. INf¥a Frarrd gfeda
4. WY RS
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= fag T e w1 W W ad IW g
(@ 132
() 233
(g 334
(d) a1

89. Ur& d=m archt Rl uieim dar (¥nfie

ata) ® faie gediem, ffafas § |
fra e ST

1. i W FRER arR e
2. HA (WEH) TR
3.  wEfa an s

= R T g2 w1 W@ = ad W gha
(@) FaA 1 3R 2
(b) ¥« 1 3R 3
) 1,233
(d) Fa@ 2 3R 3

90. ‘shenfie suwpn’ @ foreft srgufva sam @ w9

1 IuFH AN ¢ 3R 3% ofwla feft e
Y I TR T SR, $RER g1 94491 A
am g I ft @ R s Rfy g
fafefm =1 = s gwr @
arfufam, 1968 Hit frafaflaa # @ fbw wm
# 7@ fonfye e o 7

(@) ¥ 2(1)(a)
(b) G 2(1)(b)
(c) ¥ 2(1)(c)

(d) =7 2(1)(d)



86. While maintaining the employer’s rights Select the correct answer using the code
in respect of trespass and damage, given below.
an impartial, courteous and friendly

attitude can yield dividends in taking (@ 1 and 2

the heat out of an immediate situation (b) 2 and 3

and yield long-term dividends in the

form of goodwill. (c/ 3 and 4
(d) 1 only

In which one among the following
references will this statement be most

appropriate for industrial security? 89. A perimeter wall of standard height

should have further reinforcement with

which of the following?
{a) Counter-intelligence .
1. Barbed wire on top

(b) Action during strike 2. Setting spikes

3. Concertina wire
{c) Action during patrolling

Select the correct answer using the code
(d) Enhanced housekeeping given below.

fa} 1 and 2 only
87. Which one of the following documents is

not required in the control room of the () 1 and 3 only

. ?
main gate of a plant? (c) 1,2 and 3

(a) Attendance register (d} 2 and 3 only
(b) Vehicle register 90. Industrial undertaking’ means any
undertaking pertaining to a scheduled
industry, and includes an undertaking

{d) Crime register engaged in any other industry, or in any
trade, business or service which may be

regulated by the Parliament by law.

() Standing order

88. The drivers of the cash vans, while
carrying heavy cash, should pay special
attention to which of the following?

Which one among the following Sections
of the CISF Act, 1968 defines this?

1. Staged accidents (a) Section 2(1)(a)
2. Fake police officers (b} Section 2(1)(b)
3. Expected traffic diversions (c) Section 2(1){c)
4. Normal speed breakers {d) Section 2(1)(d)
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91, ¥R v ‘Wfmy’ FM F Fwla wuw A= F 94, fFmfafga & @ +F-7, Afimws BgFE @

21 af Y sIftreram sg-¥im W wvw W@t § (wrr fRieer Rrew) % woR &7
it i off, @ = siafie e sa el 2 -
weff Freeferfia @ @ fore ey o o wehar 27 ' ;
aﬁ 3. W-m(ﬁ)m
@ 27 s, - ()
(b) 28 a§
99 fau U g w1 W@ W ad s gl
(c) 294
(@) %9 133
(d) 304
(b) FaA2, 334
92. ﬂ’[o'&ﬁoQomo%ﬁm—%ﬁ%W,m (c) Faa 1, 23l 4
* Wit faeeiia Sem R fFd R ach g @ @ 1,2 334
R & e sgma Fumr it aftwaw wed
warg forat 27

95. g Mufr T @ *F TW IF

(a) 4 ¥ % AT F U FA @ 7 3 fadegE, SR s i gefea s

(b) FUF 6 3T F TS & YW FA @Al @y (SR i) ¥ 9 Prafafee & @ s
9%\ Rz, o afe weEt | Sl | g
© T 6 e S = & aw pa o s e &7
1039 (a) Torga W
(d) FE 4 @ F <A F AT FA A (b) PN @H
9%
' (c) aaitqﬁl?ﬁfl
93. ¥=iw Meifie gan w= wfufem, 1968 (d) 3 Ha
frg ad fRu MU G & T R GHR W
s ) sheien st % SE W A 96. ¥ sieifi g I # wdwew Fraffaa
R w3 & W SR I F i % § frg e @ ama e wn an?
w-a § iy T {7
(@ 1983 (@) 7 R
(b) 1989 (b) SR
fc) 1999 (c) ST
(d) 2009 (d) 48
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91. In case you had joined the armed forces 94, Which of the following are the types of
at the upper age limit of 21 years under fire sprinkler systems?
the ‘Agneepath’ Scheme in the first

batch and you had served 4 years, you 1. Wet pipe

can be recruited by CISF until the age of 2. Pre-action

(a) 27 years 3. Dry pipe

{b) 28 years 4 Deluge

{c) 29 years Select the correct answer using the code
given below.

{d) 30 years

fa) 1 and 3 only

92. As per the BCAS guidelines, what is the
maximum permissible length of a
Kirpan allowed to be carried by a Sikh
passenger on a domestic flight within

(b) 2, 3 and 4 only

{c) 1, 2 and 4 only

India? (d 1,2, 3 and 4
(a) 7 inches total length with a blade of
4 inches 95. CISF has a highly specialized, trained

and fully equipped fire wing. It provides
fire coverage to industrial establish-
ments, except

(b) 9 inches total length with a blade
not exceeding 6 inches

{c) 10 inches total length with a blade
not exceeding 6 inches

(a) power plants

(b) coal mines
(d) 9 inches total length with a blade

not exceeding 4 inches (c) oil refineries

(d) fertilizer plants
93. In which year did the amendment to the

CISF Act, 1968 enhance the territorial
purview of the force by enabling the 96. CISF was first inducted in which one
Central Government to deploy it outside among the following airports?
the geographical jurisdiction of India?
{a) New Delhi

(a) 1983

(b) 1989 (b) Jaipur
(c) 1999 (c) Amritsar
(d) 2009 (d) Mumbai
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97. & IR | Wo Mo Ao w1 Frelm wan

14

(a) FMEITE

(b) g R gt
(c) e Rt erfim
(d) I & & I 7

98. Fmfafga @ @ ®N-4l, {F-RNA (FeSHE)

AR - (2fFT) F iwia TR A q9E
% fore wrpfoer amre ft 27

(a) TE @
(b) TG &
(c) ¥

(d) Fwta e

99, FI-HIE (FleewHRe) MR w-Hva (fFeT)

# fy o sew # e g gfonfia
fopan T 27

q
TR H BEAT ()

1.
2.

3. 2WR & .|H
4. BRR & e

R few T gz = W@ W T W ghU
(a) ¥Fa@ 1, 233

(b) Fad 2 3R 4

(c) Faa 1, 334

d 1,2 334
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100. Frafafaa & @ ¥9-8 g =1 &, I @

IR A9vF ¥ wivE B wnfaa Q¥

1. =

2. FHMA A FEEm

3. R fam

4. F-3-¥0 g9 U Aftre-w-31fus wRR
fiwm <t arepa

= few mu e = W W wE W gy

() ¥ 1, 23M 3

(b) FaA 2 IR 4

(c) Faa 1, 334

d 1,2 334

101. = ife g s« afufam, 1968 &

"o #, Frafafg & | FF-w1/aR-8 F@
wd /%7

1. ¥ Aefw gun 9@ Afufem &
uW 10, 9-9SE1 F Fdsd § HaEtd B)

2. %3 ieifie g @ Autam H
g/ 11, IR & o finwar s
e @ dafta B

3. 31 nfiE e s@ sAfuftem 6
urr 12, fRear ¥ venq e i M
et gk @ wefta 21

4. =\ efE gan @ sfufEm &
g/ 13, 9R2 % forn qemsht 9 6 ofw
¥ wafta B

= Ru T g2 w1 v W @ W gy
(@) 134
(b) 233
(¢ 132
(d) ®aa 2



97. CRT in the context of security equipment
stands for

(a)
(b)
(c)
(@

Cathode Ray Tube
Central Research Transponder
Common Repeater Timing

None of the above

98. Which one among the following is not a

natural cover from fire in fieldcraft and
tactics?

(a)
(b)
(c)
(d)

Ravine
Hollow
Bush

Reverse slope

99. Fire control order in fieldcraft and tactics
is defined by which of the following?

1.

> 0N

Group
Range
Indication of target

Type of fire

Select the correct answer using the code

given below.

(a)
(b)
c)
(@)

1, 2 and 3 only
2 and 4 only
1, 3 and 4 only

1,2, 3 and 4
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100. Which among the following are the main

factors that affect the formation of
platoon and section?

1. Terrain

2 Command and control

3. Direction of fire

4, Maximum within
minimum time

firepower

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
(b) 2 and 4 only
fc) 1, 3 and 4 only
(d) 1,2, 3 and 4

101. With reference to the CISF Act, 1968,

which of the following statements is/are
correct?

1. Section 10 of the CISF Act deals
with the duties of the members of
the force.

2. Section 11 of the CISF Act deals
with the powers of arrest without
warrant.

3. Section 12 of the CISF Act deals
with the procedure to be followed
after arrest.

4. Section 13 of the CISF Act deals
with the powers of search without
warrant.

Select the correct answer using the code
given below.

faj 1 and 4
(b) 2 and 3
fc) 1 and 2
(d) 2 only
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102. =R fufaa Yand (affer, P sk ardier)
Framaeht, 1965 ¥ ogawr, fofufea § @
FN frft walt wih =t Pefa =0 %
o weam wiftrerry Tl 27

(@) s miterr

(b) TEn w§ witeer, Frgfe sl e
ey

(o) safE M
(d) e i

103. = fufem dand (srmacw) Frameeh, 1964 %
IgER, fefafga # & P-d R $ g
faftm st ®  oiigh/sml ©

ravaal Ti 87

() fafd@ wn d1 & @E0Es % w9 A
ke g

(b) Frre wafgt ¥ IverR @wr w==, =
e faféa € @ it &

(c) Toht Fsh a1 gt fem o =afe %
fore fore e wrt ¥ yow iR w0
(d) ¥RA W% GO R AN FHe A

qreft 999 & W 9 o

104. iRfa g = Frafafes 3 @ fres w9 S
T Fwar 27

() eHfes gel, sd-ae gd, ol g
(b) THEE R, w4l g, s gd
(c) -3 TR, WA g, s g
(d) e ga, g gd, s g9,

AT G
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105. Q3 I fEmE (To Ao Ho) w1 @ o

T 10 Tt a5 i sl gt $ Tdew &
o, Tt Y orafy ¥ wg-wy A w1 &
gl i oEf B frew § A g, fEd
TEH Bl % G § wH-8-F0 R =
+ gt I - =fge?

(@) 180 fem

() 30fH

(c) 90

(d) 300 f=

106. ¥ AeNfiE guan 9 F 4 QA (St =)

! i 3 3 el /Rt Qe o wear
% o wiirfma foman S 27

1. uifes gRER

2. @ (TR veref)

3. 39N U§ a&Rl ¥ oY U Ert gerd
4. 3T|30§o'§]o

Hia g e g2 # W@ W @ W gl
(@) 132

(b) A 2

() 133

(d) 234



102. As per the CCS (CCA) Rules,

1965,
which one among the following is not
the competent authority to place a
government servant under suspension?

(a)
(b)

Appointing authority

Any authority, to which the
appointing authority is subordinate

(c) Disciplinary authority

(d) Inquiry authority

103. As per the CCS (Conduct) Rules, 1964,

which one among the following activities
does not require sanction/permission of
the prescribed authority?

(a) To join as volunteers in civil
defence service

(b)

To accept gifts from near relatives,
when value exceeds prescribed
limits

{c) To accept fee for work done for any
private or public body, or person

(d) To participate in Shramdaan
organized by Bharat Sevak Samaj

during spare time

104. Earned leave can be combined with

which of the following?

fa) Casual leave, half pay leave,
maternity leave
(b) Casual leave, maternity leave,

study leave

{c) Half pay leave, maternity leave, sick
leave

(d)

Casual leave, paternity leave, sick
leave, study leave

KASC-A-GIP/S5A

105. For an encashment of earned leave of

up to 10 days at the time of availing
LTC, a balance of at least how many
should be available to a
government servant’s credit after taking

days

into account the period of encashment
as well as leave being availed of ?

(a) 180 days
(b) 30 days
(c) 90 days

(d) 300 days

106. The dog squad of CISF is trained to sniff

39

and identify which of the following?

1. Metallic weapons

2. Narcotics

3. Pickle and smuggled food items
4

IEDs

Select the correct answer using the code
given below.

(@ 1 and 2
(b) 2 only

¢ 1 and 3
(d) 2 and 4

[ P.T.O.



107. a4 2006 #, ¥ MeNfiw Gan I 3 Gear-

T AR G WoR A F foa faew g
g (o who fo) T fafire = Hi
T ) Fefafas § @ KF-T1, % Fd
=1 feaa =t 27

(@) T Q& 9q@ FE

(b) T s Rl & gan-sw @ W
IECAREH

() m-fifes =afeat N =@ R =«
feyfaat & guan e &

(d) -9 S & geftat o aifaRmt =
T TG FAL

108. ¥4 3G IGE N F Fgd & 9§ @ T

WitR-I A % =R 3R S AW qT
zwia & fr 9 foreh w19 @ swema &, i3 3w
=i & a9 q% IR T8 qq, 99 9% % T8
=i 3 *E B FX ¥ foe wewa T @ I,
S o 9TRd 37

(@) dRAY

(b) TSN AU
(c) rhrEe)
(d) ot

109. s fafm widt @ s i w1 "= R

Frafafaa & & Fw-w1, rgEn @ FA =]
faaeha wa T 27

(@) IR g0 9w sfaf (Fe)
(b) e (A9ETE) FEA
(c) IiR-FA (@) gE

(d) el (YReFES) F wew [ Tw
EICEa|
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110. Fafafga # 4 F9-w1, T g I3 Fwem

@ (Fflo o Fo wHo) Iy w1 frw it
144

(a) éaﬁaﬁﬁasﬁﬁgéa
(b) T =iHE

(c) TEA dERi ug G@ew (9 T Hed
feda=)

(@) ygat=m

111. vl o ym @ & foe fedt sfearh g

IEm § T wREd o 6 el ok
w90 = T F@ A 27

(@) “ieEm (d9e9)
(b) TS T (HEETH)
(c) i Trad (Sefeae s

(d) FeAET (FRE-gHes)

112. fAR g # Ao F fog @ awia

5 smd 31 wwa 8, g wdl Peafofea @ @
forerd <t wITeht B7

(@) T I
(b) THo THo o
(c) THo dio o

(d) dto T80 THo Tho



107. In 2006, CISF raised a special unit called

the Special Security Group (SSG) to
provide security cover to protectees.
Which of the following is not a part of
its duty?

{a) Providing physical protection

(b) Evacuation of the protectees in
case of an emergency

{c) Providing mobile and static security
cover to nominated persons

(d) Providing protection to the relatives
and guests of the protectees

108. What do we call an occasion when people

show that they disagree with something
by standing around a person in
authority and not letting the person
leave until the person agrees to do what
the people want?

{a) Confinement
(b} Wrongful restraint
{c) Blockade

(d) Gherao

109. Intelligence can be collected from various

sources. Which one among the following
is not a reliable source for collection of
intelligence?

(a} Images obtained by satellites
(b) Grapevine communication
{c) Intercepted communication

(d) Information
espionage

obtained through
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111, The

110. Which one among the following is not a

part of Bomb Detection and Disposal
Squad {BDDS} equipment?

{a) Telescopic manipulator
(b) Bomb blanket
{c) Deep search metal detector

(d) Smoke bomb

ilegal and unethical theft of
business secrets for use by a competitor
to achieve a competitive advantage is
known as

(a} sabotage

(b) subversion

(c) industrial espionage

(d) counter-intelligence

112. Sky Marshals are deployed to prevent

hijacking. In India, they are recruited
from

{a) Delhi Police

(b) NSG

(c) SPG

(d) CISF

[ P.T.O.



113. 3SH | Wasd B & g R ¥ ik 3 ¥
d IR & gy 4, Fefafed 1 @ S9-@ w9
LR 4

(a) Ffew wme F A1 A agAfy )
(b) ¥ w3 grd A A g Ry

(c) i amm & orR do B gl B

(d) Caediga amm 3 QM 6 safa )

114. I (Re-3fww) afufam, 1922, =
e e 7@ F e W I ywR @
g St T 98 gform @@ % wewl woany A
21 ¥ ohefie e s erfufiam, 1968
%! FA-H arr 77 FEd 27

(@) 97 18
(b) €W 19
(c) 9RT 20
(d) €21
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115. % ¥ W IV I JGd T F N
TES B PG wwEdl #1 gafta Rrems
% s forn s Iifey, ol 3

1.

3.

4,

vy fes & &9 4 (W F) Rofea
foran s =nfew

W feft & w9 d ffge fen s
=1fee

wfvsfta & ®v # fufga fen w90 =i
wF 3 faes & wren s Sifde

R R e g2 W W@ W T I g

(@ 1,23M4

(b) 2,334

(c)

1, 23R 3

(d) Fad 13 4

116. Tg¢ WA (Wo THo TWo) I Afmwm *
IgeR, Ffafaa § @ ¥9-w, ¥ o
giera s (o o o who) W 27

(@) THo THo o

(b) Tdo THo ‘\iﬂo

(c) W TTHeH

(d) twho dto Sfto

42



113. Which one of the following statements

with regard to carrying power banks for
mobile phones and dry cells in flight is
correct?

(a) Both are allowed in cabin baggage.

(b) Dry cell is allowed in cabin
baggage.

{c) Power bank is allowed in cabin
baggage.

(d) Both are allowed in registered
baggage.

114. The Police (Incitement to Disaffection)

Act, 1922 shall apply to members of the
CISF as it applies to members of a Police
Force. Which Section of the CISF Act,
1968 says this?

(a) Section 18

(b) Section 19

{c} Section 20

(d) Section 21
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115. Vitally confidential documents passing

through the post should be enclosed in
an envelope addressed to the intended
recipient, and they should be

1. marked as strictly personal (by
name)

2. marked as strictly private
3. marked as restricted

4. put into another envelope

Select the correct answer using the code
given below.

fa) 1, 2 and 4

() 2,3 and 4

© 1,2 and 3

{d) 1 and 4 only

116. As per the MHA notification, which one

among the following is not a CAPF?

fa) SSB

(b} NSG

{c) Assam Rifles

(d) SPG

[P.T.O.



117. T ToaH g3 3, Frefafae 4 3 e 3% @
T F ¥ e wan s fogen
W i g 27

(@) = H
(b) U@ A
(c) Bt AT

(d) IR FENE W

118. ¥ sieifiew wan s afufam, 1968 *
g A, frafafee # @ F-w/A-] =
wdt et /27

1. 9T 8, ¥ 9o & figm 3R wEH |/
watta )

2. 3 9 #1 arefiew F=hw wn § fafa
aull

3. 39 ¥ & GARYM 3R g wrifRye
# fafga @y

4. 3@ 9@ w1 WER weillse § ffa
il

Hre fow e e F1 v W wd W gRu)
(@) 13K 4
() 234
(c) 233

(d) Faa 1
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119. T WRew warA #, frafafes & @ ¥9-3

it &7
1. W
2. AW ATE
3. afa feem
4. mymrd

Frat fou 7 g2 # wm = w9 3w ghw)
(@ ¥Fad 1, 23R 3

(b) ¥ 3 IR 4

) Faa 1, 234
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120. ¥F-RH (Foewe) §, wEen 4 o9wd

Fn fears A 87
1. Wi R
2. & o sra-te & Ryl A s @

3. V& WA I dR fAwm F fiw w=h
/A wfa @
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R R 1w g2 #1 @ = wd 3w ghy
(a) ¥ 1, 23R 3

(b) Faw 3 3R 4

(c *aa 1, 23R4

(d) 1,2 334



117. In the National Capital Region, on which

one of the following metro rail lines is
CISF cover not provided?

{a) Blue Line
(b) Aqua Line
(c) Magenta Line

(d) Airport Express Line

118, With reference to the CISF Act, 1968,

which of the following statements is/are
not correct?

1. Section 8 deals with the super-
intendence and administration of
the Force.

2. The superintendence of the Force
shall vest in the Central
Government.

3. The command and supervision of
the Force shall vest in the Director
General.

4, The administration of the Force
shall vest in the Inspector General.

Select the correct answer using the code
given below.

fa) 1 and 4
(b} 2 and 4
¢ 2 and 3

(d) 1 only
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119. Which of the following are included in

total risk management?
1. Safety

2. Fire prevention

3. Damage control
4.

Insurance functions

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
{b) 3 and 4 only
fc) 1, 2 and 4 only

(d 1,2, 3 and 4

120. In fieldcraft, distance is underestimated

when
1. the light is bright

2. the object is large in relation to its
surroundings

3. there is compressed/low-lying
ground between the observer and
the object

4. looking uphill

Select the correct answer using the code
given below.

(a) 1, 2 and 3 only
(b) 3 and 4 only
) 1, 2 and 4 only

(d 1,2, 3 and 4
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121. An employer of an establishment deducts

an employee’s contribution from his
wages for crediting the same to the
Family Pension Fund as per law but
does not credit the same as required by
law. The employer

{a) would be guilty of committing no
offence under any law on his
promise to deposit the amount

(b) would be guilty of having violated
the law and would be punishable
only under the relevant labour
legislation

{c) would be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

(d) would not be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

122. The punishment of imprisonment for life

can be awarded for which of the
following offences?

1. Mischief by fire to destroy a
building used as a place of worship

2. Mischief by explosive substance to
destroy a human dwelling house

Select the correct answer using the code
given below.

{a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2
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123. With regard to seizure of property under

the Code of Criminal Procedure, 1973,
consider the following statements :

1. A police officer not below the rank
of Sub-Inspector of Police
conducting an investigation for
identifying unlawfully acquired
property can make an order for
seizing the property under
investigation if he has reason to
believe that the property in
question may be concealed or
transferred in any manner.

2. An order made as above shall have
no effect unless the same is
confirmed by an order of the court
within thirty days of its being
made.

Which of the statements given above

is/are correct?

{a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

124, A District Magistrate may by warrant

authorize a police officer above the rank
of a constable to take possession of an
objectionable article deposited in any
place. These articles include

1. forged documents
2. false seals
3. obscene objects

Select the correct answer using the code
given below.

fa) 1 only

() 2 only

{c) 2 and 3 only
(d) 1,2 and 3

[P.T.O.
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Fn ¢ 5 R =t oA -
foarw & fag S sews T@Rs W
FAFfmam R o g, A
3 7 am)

el fordy wm R qwer Jemeht # R
qome aRe 9 R 1wt )

128. WRd g3 Gftan, 1860 % 3nf Rua ¥ 3ieta,
Fratafa & @ ¥F-T1/99-8 miva &/87

1.

et =afer =1 30 Rww | ofdiww 3 6
a8 39 =Afe & frdt Fates aftmr =0
T FA F fore IR K e =t
 Fafere W 2 f 3 W saften W
W foa @

e fifa g w1 W A Fard
T 999 T

R, 3 1 TR % ¥ § S R
FHT I TR R FHET

19 fou I g2 @ @ W= ad I g

(a)
()
(c)
(d)

132
13r3
Fadl 3
2 3R 3



125. Consider the following statements with
regard to search under the Code of
Criminal Procedure, 1973 :

1. A search warrant remains in force
until cancelled by the court issuing
it or the same is executed.

2. A search warrant cannot be
executed at any place if the place
concerned falls outside the
jurisdiction of the court issuing it.

3. A search warrant may be issued by
the District Magistrate for search of
a person who has been confined
where such confinement amounts
to an offence.

Which of the statements given above
is/are correct?

(a) 1 only (b} 2 only
{c) 2 and 3 (d) 1 and 3

126. Consider the following statements with
regard to seizure of property under the
Code of Criminal Procedure, 1973 :

1. Any police officer may seize any
property which may be suspected
to be stolen.

2. Any police officer may seize any
property which may be found
under circumstances which create
suspicion of the commission of any
offence.

3. If the value of the property seized
is less than one thousand rupees
and the person entitled to its
possession is absent, the court may
direct its sale by auction forthwith.

Which of the statements given above
is/are correct?

(a) 1 only (b) 1 and 2 only
fc) 1,2and 3 (d) 3 only
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127. Which one among the following
statements is not correct?

(a) A Magistrate may issue a warrant
to search a document or parcel in
the custody of Postal or Telegraph
authority.

(b) A search warrant may be issued
when it is not known to the court
that a particular document or thing
necessary for the purpose of any
investigation or trial is in the
possession of any person.

fc) A search warrant may he issued
when the court has reason to
believe that the person who has
been issued summons to produce
a document necessary for any
investigation or trial will not
produce the same.

(d) A search warrant may be issued for
general search of a particular place.

128. Bribery, under the Indian Penal Code,
1860, includes which of the following?
1. Giving a gratification to any person
with the object of inducing him to
exercise any electoral right or
rewarding any person for having
exercised any such right

2. Making of a declaration of public
policy or making of a promise of
public action

3. Giving or accepting a treat in
the form of food, drink or
entertainment

Select the correct answer using the code
given below.

fa) 1 and 2

(b) 1 and 3

(c) 3 only

({d) 2 and 3
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129. FfaRea & & F-w w= wifyafies Hem 27

(@) T fee = s
(b) TEE FFgfaa Sfa 3w
(c) TER T AftER weEm Em

(d) THR IqEETE IEM

130. wHa AftR wgw Afufam, 1993 & e &,

fraferfes 3 @ #9-w %o wd 7

(a) Frdt To TmE AR s F s
IR e Fao ufe 9¥ A Ef a%
YT 98 YR T €|

(b) Treh Tsm aFE AftER I ¥ snay
IR §eE Fad B: T4 i W@y aw g
2 YRU A §)

) Tl =0 amE aften s ¥ oraw
R gew 7 af # afy a% orgAT ueg
gRW FA € 3R 3 Efighe % um g §)

(d) T&h va umE iR smam ¥ sraaw
3R "ew uiw ad &t wE ok omfy &
fore gafiges fog s w1

131. W AR W afifam, 1993 ¥ wed &,

Frafafas wut w fomm A .

1. g™ oHe IfteR Em § wH-3-Fw
o uigen e & A afEd 2, (@
qHE R ¥ defta ol 1 39 @
g S B
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2. UEH uME YR Imm § wu-9-9
1 wee =1 A el R, v ama
afterl ¥ et ol &1 3= @
SATaERE AP B

3. fmemt & fo 7o agw & e«
F° e % fou wie ame sfter
R 1 4G T A« R

I HYAH § A HH-T1 /AR Tl B/E?
(a) Fad 1

(b) e 2

(c) Faw 23R 3

d 1,233

132. WA % dfaum @1 frafafas # @ ¥9-w 3wy

Fraws Frv @ wefte 27

(@ TV 19 (b)) IFRE 20
() FTWT 21  (d) IFHT 22

133. WA ¥ WRvm & frafafaas § ¥ fre egese

1 fare o AenEl 1 vad o A Tt R
T 3?

(@) FFwT 20(1)

(b) TR 20(2)

(c) TR 21

(d) =T 22(4)

134. YRd & WREM % gt 22 % o\

frafefaa & @ S-w sifter fvwr e

3R Freg @ T et afes & e T s @

Iqctey Tt 27

(@) FHG IR H ANER

(b) TREar & FRol R =T T ARFR

(¢ whz & witer & for finwad /
et 92 H @Efy ¥ Ffm @iy &
fore foreg 71 &1 @1 iR

(d) ot ¥R & foreht faftr szl g sroeh
gieRen A H1 AR



129. Which one of the following is a

constitutional body?

fa) The National Commission for
Backward Classes

(bp) The National Commission for
Scheduled Tribes

() The National Commission for
Protection of Child Rights

({d) The National Commission for
Minorities

130. Which one of the following statements

with regard to the Protection of Human
Rights Act, 1993 is correct?

{a) The Chairman and Members of a
State Human Rights Commission
hold office for a term of five years
only.

() The Chairman and Members of a
State Human Rights Commission
hold office for a term of six years
only.

{c) The Chairman and Members of a
State Human Rights Commission
hold office for a term of three years
and are eligible for reappointment.

{d) The Chairman and Members of a
State Human Rights Commission
can be reappointed for one more
term of five years.

131. Consider the following statements with

regard to the Protection of Human
Rights Act, 1993 :

1. It is mandatory to have at least
one woman Member in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.
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132. Which one

2. It is mandatory to have at least
three Members in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.

3. The Chief Commissioner for
Persons with Disabilities is deemed
to be a Member of the National
Human Rights Commission for
certain purposes only.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

{c) 2 and 3 only

(d 1,2 and 3

among the following

provisions of the Constitution of India
relates to preventive detention?

(a) Article 19 (b) Article 20
{c) Article 21 (d) Article 22

133. Amendments to which one among the

following Articles to the Constitution of
India have not been enforced till now?

(a) Article 20(1)
(b} Article 20(2)
(c) Article 21

(d) Article 22(4)

134. Which one among the following rights is

not expressly provided under Article 22

of the Constitution of India to a person

who has been arrested and detained?

(a) Right to get bail

(b) Right to know the grounds of arrest

fc) Right not to remain detained
beyond twenty-four hours of arrest
without the authority of a
Magistrate

(d) Right to be defended by a legal
practitioner of his choice

[ P.T.O.



135. <€ Wi dfgar, 1973 & 1 fitwan fog T

=fe & i ¥ daftm Frafafae @ w

ﬁwaﬁrﬁrq:

1. frgar feg Mo et st Y, e
g fafka Ofd @, =a 6 Brres = &
fore arew e < gepar 21

2. Ife firgar frg e =t 6 e @
T wafe aeRe @ Tife w9 9
frore @, @ avft swmelt & fimres wissn
& difsaah v we wifgw)

3. IR Nrmme +@ T =fs wefds @
e 1 @ foe 3, @ @ A $
wagur # o S e T @ )

I FoEl § ¥ -T2 Tl R/E
(@) ¥4 1

(b) Fa« 1 3R 2

c) Hasi 23R 3

(d 1,233

136. WG & dfeur & Ffafga & @ fra Sgag &

JTd, 7™ I8 o wE 1 gAaR IR SR qun
3l YR 1 3 weq 5W aftg fean mn R,
Wy T @ o e e ¥ wdete
weE & fog ifEr dar it =@ @
Franfa dt Far?

(a) ITTRT 23
(b) ST 24
(c) TR 25
(d) TR 26
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137. vRdE e afufian, 1872 & sdfla ‘@i’ |

= Ifa 7
1. &, S S 9 & faegt & g9 #

%, R e o ' wiEEt g
e 91 it g A ], W e a1 }

2. EeE & g % fog 9w e o oh
TR, el wwghe sfee wie
L4

i few T g w1 W@ W w0 gRT)

(@) a4 1

(b) ¥ad 2

c) 1 3R 2

(d Fd 1T 2

138. wRdm @ Afufam, 1872 & Wy #,

Frafefaa fafte wamet # @ F9-a1 ad T

144

(a) & IwEy ¥ 6 <mew fedt asg A
IQYURN W §HN, 98 A= a1 a@ W
e H Wifed I AW wHW, IR
rerferd 98 foran Stran 2, @ 39 wqd B
T G

(b) & 3vE" R T =wem fed 9@ @
IQUROT S, TE A W8 q% @l
wifeq 7, aft o Fa w@ N
e @

(c) vt Iusm 2 & =mew fedt 7
ITURUN HM, TE AEEE qqQ H A
E2&:C]

(d) et % o as et a9 @1 Pgs
gq Dfta fFn o R, a8 Amew 3w
TF 99 & 9ifed @ W W 39 9 &
i "o iR S8 T FR *
e & o wigw fu 9@ @ g &
Im



135. Consider the

136. Which one

following statements

relating to identification of arrested

person under the Code of Criminal

Procedure, 1973 :

1. An arrested person can be directed
to subject himself to identification
in the manner prescribed by the
court.

2. If the person identifying the person
arrested is mentally or physically
disabled, the identification process
must be videographed in all cases.

3. The supervision of a Magistrate is
not mandatory if the person
identifying is mentally or physically
disabled.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only
{c) 2 and 3 only
(d) 1,2 and 3

among the following
provisions of the Constitution of India
prohibits forced labour such as traffic in
human beings, Begar and such other
similar forms of labour, but does not
prevent the State from imposing
compulsory service for public purposes
without discrimination?

(a) Article 23
(b) Article 24
(c} Article 25
(d) Article 26
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137. What does ‘evidence’, under the Indian

Evidence Act, 1872, mean?

1. Statements in relation to matters of
fact under inquiry which the court
permits or requires to be made
before it by witnesses

2. Documents produced for the
inspection of the court including
electronic records

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

138. Which one among the following legal

propositions is not correct with regard
to the Indian Evidence Act, 1872?

(a) When there is a provision that the
court may presume a fact, it may
either regard such fact as proved
unless it is disproved or may call
for proof of it

(b) When there is a provision that the
court shall presume a fact, it shall
regard such fact as proved unless it
is disproved

(c) When there is a provision that the
court shall presume a fact, it may
call for proof

{d) When one fact is declared to be
conclusive proof of another, the
court shall, on proof of one fact,
regard the other as proved and
shall not allow evidence to be given
for the purpose of disproving it

[P.T.O.



139. wRdm we  fufam, 1872 ¥ anfe

‘e’ ¥ il B mite T #7

(a) TR

(b) TE

(c) Tafae =mmitm

(d) &g A % fg 39 w9 | wiga safe

140. fafafaga d @ e oS & 3=aw =EEw 3

fingar =afts & it & weaw & fore faega
T St fea?

(a) So Fo FF FI17 YW ST TS
(b) QAT FAK T W TR TT
(c) ¥« AT T fagr T

(d) TEHEE FER F9MH IR G

141. g9 @ After aAfufem, 2005 A e

arett § @ R i, WeER T g
e AR gua gueAt W oft aEa e
% A @ Haftm gE & TR @ 2
Tt 87

{a) 91U 18

(b) €W 20

{c) ¥ 24

(d) ©T 26

142, Frafafgd § @ SN9-a1 9@ o 27

efie faar aifufem, 1947 H YR 10A
% v faar & e & R Wesar By
fora s @&

(a) et T wd Neifre fare femm 2 o
T Y i &

(b) & frAeE IR FHeR fare # aeae
& forg i fopn 9 & forg wema &
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¢ Tar= =t g 10 F i FERm fae
N ¥ @ W FRRm e 9m ¥ vag
forelt oft v

(d) W@ =fe a1 e @, G e
= 1 fafafde frm se

143. i faare sfufigm, 1947 & v et

sifufivie & ghvm ol wRw @9 % weEw 1,
frafafae 4 @ F9-1 wuw od oft 7

(@) M AEEE, At a1 i At
F R et Ay R T ik,
wfaa w@R 3R W srfufel f wfn
# ar@ ¥ 30 A fi FemEfy F e
vt TR smom

(b) fufof, ayfea TR T g% THERE
# g ¥ 30 fA & EEm ® yaddy
el

(c) IR wyfa @R 6 77 T | & wiw
AT W YWE SR 9 A
SERl | Aol A g w=@m
s g, @ e weR ifta w
! § f% 30 i A womaf ¥ sraEm
X oft Tar srffRely ey 74 €

(d) Tt sifufaia o swadi <M & day
A wfra wan § fifs wieal scifes
2 it e A R o= wited @
M wefifa A A Rl T 2



139. ‘Court’, under the Indian Evidence Act,

1872, does not include which of the
following?

(a) Magistrates

(b) Arbitrators

{c} Civil Judges

{d) Persons legally authorized to take
evidence

140. In which one among the following cases,

the Supreme Court issued detailed
directions for the protection of the rights
of the arrested person?

(a) D. K. Basu vs State of West Bengal
(b} Lalita Kumari vs State of UP
{c) Rudul Sah vs State of Bihar

(d) Parmanand Katara vs Union of
India

141. Under which one among the following

Sections of the Right to Information Act,
2005 is information pertaining to
violation of human rights not exempted
from disclosure by intelligence and
security organizations established by
the government?

(a) Section 18

(b) Section 20

{c) Section 24

(d) Section 26

142. Which of the following is not correct?

A voluntary reference of dispute to
arbitration under Section 10A of the
Industrial Disputes Act, 1947 can be
made

{a) where the industrial dispute exists
or is apprehended

(b) when the employer and the
workmen agree to refer the dispute
to arbitration
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143. Which one

(c) at any time before or after the
dispute has been referred under
Section 10

{d) to such person or persons as may
be specified in the arbitration
agreement

among the following
statements in respect of publication and
commencement of an award under the
Industrial Disputes Act, 1947 is not
correct?

{a) Every arbitration award or award
of the Labour Court, Tribunal
or National Tribunal shall be
published by the appropriate
government within a period of
30 days from the date of receipt of
any such award.

(b) An award is enforceable on the
expiration of 30 days from the date
of its publication by the appropriate
government.

{c) The appropriate government can
declare that such award is not
enforceable even after the
expiration of 30 days, in case it is
of the opinion that it is inexpedient
on public grounds affecting the
national economy to give effect to

the award.
({d) The powers vested on the
appropriate government  with

regard to making an award
unenforceable are absolute and it is
not required to refer the matter any
further to any other authority.

[ P.T.O.



144. fie faar  arfufam,

1947 & 3ndA
‘FHER’ ¥ i, FafaRaa & @ fra Aot
w1/ ANt & =afte ermar @/ €7

1. et = & yoefies =@l w @ &
fow Fafa =afs

2. Tt 3gm & anih @l = a0 & i
s ==t

3. freft FRem & it o1 el & w0
# e =afw

4, feh 3am # dfraoe wEl @ w0 F
fow Frenfora =afen

H= e mu g2 # W Ed W ghu
(@ ¥ 1

(b) Faa 2 3N 4

(c 2, 334

(d 1,234

145. Fefafiga & @ #9-w, St 6« § s

27

(@) X rftrafiar & oy &1 A I W A
Tarat | fgw @ 9w 2

(b) X ¥ e wfie & Fdfeww 78 fag
I F GREEY IGh Y1 T W D
et 8

(c) X % P gro frdt oft wRw @ IuhH
a1 g W & A

(d) X & JIEEE FHaE F w9 A Ry M
T & HoaEy IF fRSH w1 gdedr
X T st @
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146. f=fafaa d @ fa/fed oifts fPaear &

w9 # itwa fra e 27

1. aR Rawear sreueh wwr 6 2, @t @
FEr @ et Faem & ue-gme
w9 g Jrdi 3 e ag 39 ghe & v
T gan o

2. AR Fomrar srurft ywR A R}, @ T
=fr ® W ot w8 FA F e e
¥ ¥ 2, PR 98 39 gHen & W
fremfea F & fore aud on

3. IR fown wrft R A R, AR
W e 3 I JgRia-gmeE w0 @
reht B, @ Tem 7 F fom g glen &
T whyg

H= fag T g2 w1 W@ W wd IW ghe)
(@ 233
() 133
(c) *ad 3
(d) Faa 1

147. w9t g afufem, 1923 & anfm,

frafofes & @ o o § =6 o
yfee 1 }FER Bm?

1. el et bt 3 o Pl @ So
gdem g dafee afy Fiia Bt 2

2. W@ @fd & I @ A F fow oo
Frrren @t @

3. & el ® Iu* FAem & g §
Jufre afa #ifa At 2

H=2 fow 7o g2 w1 W@ = @ s gl

(@ Faa 132

(b) Faa 23 3

fc) ¥Fa= 133

(d) 1,233



144. Which of the following categories of

persons is/are ‘workmen’ under the
Industrial Disputes Act, 1947?

1. Persons employed to look after the
administrative functions in an
industry

2. Persons employed to do technical
work in an industry

3. Persons employed as officer or
employee of a prison

4. Persons employed to do operational
work in an industry

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 and 4 only
(c) 2,3 and 4

(d) 1,2 and 4

145. Which one among the following amounts

to retrenchment?

fa}] X retires from his services on
reaching the age of superannuation

(b} X is terminated from his services
due to non-renewal of his
employment contract

(¢) X is terminated by his employer for
any reasons whatsoever

{d X is terminated from his
employment by way of punishment
inflicted by way of disciplinary
action
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146. Which of the following can be said to be

classified as partial disablement?

1. In case the disablement is
temporary, it reduces the earning
capacity of the employee in any
employment in which he was
engaged at the time of the accident

2. In case the disablement is
temporary, it disables the person
from performing all works that he
was capable of performing at the
time of the accident

3. In case the disablement is
permanent, it reduces his earning
capacity in every employment he
was capable of undertaking at the
time of the accident

Select the correct answer using the code
given below.

fa) 2 and 3

(b} 1 and 3

{c) 3 only

{d) 1 only

147. In which of the following cases will

an employer be held liable to pay
compensation under the Employees’
Compensation Act, 19237

1. Where a personal injury is caused
to an employee by an accident
arising out of his employment

2.  Where the injury caused results in
total disablement for two days

3. Where the personal injury to the
employee is caused in the course of
his employment

Select the correct answer using the code
given below.

fa) 1 and 2 only

(b} 2 and 3 only

(¢ 1 and 3 only

(d} 1,2 and 3

[ P.T.O.



148. wHOM Wl sifufym, 1923 F waf &,

frafafea & & |9-w w9 @@ {7

(@) & Afufrm F sefn 4o wwgwa ofy
w-wRe Wem wE @ Be fwd
=afts w wgfee W Wika T @i R
S 4 & |

(b) IIF g WiowR A guN | fEr e
S gE, R @ ghen A guar IuF
uféd €9 ¥ wwa 7 4 7§ A

(c) -k Heg wH A & fRet rfuaw
w1 A ft ot oRfefy 3 ¥t we
@ % UeH R TE R s wewar B)

(d) wHEd A Tm A qedieh BN F wmw 4§,
AftfFm & il wem anf-wifrs wem
&1 gAfdere Arge g0 e s )

149. wafll wfiysy ffy ot wehof 3way srfufem,

1952 & 7 wAad whsy fify < &
IEl F Yadq @ g2 3 & dey A, Freafafaa
Y W fo=m Fifd

1. R wqfea o@r 6 9w W™ ¢ 5 fwd
W % AR fl W F qEa g
o fify & fam, wm sfufaw @
faffée fraet & sen =0 sgg 7 &,
@ gz & 1w

2. AR el oo & e, wive fBify,
T 71 9F A i B R w
S W ® F, W F vglwei @
I FN IgE ¢ & W @ fufam
& A I9afi €, @ g2 @ w1 v
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3. el Ut g 4 R, a8l W afufam &
e Al (v 6) 3 Pt g
e G T AGURY (AR 7A) & Hafta
Igay arL TE #)

I FE 3 ¥ BA-w/AR-0 ) B/E
(@) ¥ 1

(b) Faw 2 3R 3

€ 1,23R3

(d) =@ 1 3ir 2

150. g W, W AmweE, e @ o

it & wua et sefad & dftm @ &

F, M faar sfufem, 1947 &

s wd Faew fefafes & @ |-

Fiard Tt W g7

1. 3 89 vEl ®, 9 Wt FEad F TRy
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gitafda &
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I

3. frft wfim wlem =, o% firg
It afifa wfda F@ F vl
I = o 3fea o0

R Re T g w1 @ W T s g
(a) ¥Fa 2
(b) F 3
c) 132
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148. Which one of the following statements

in the context of the Employees’
Compensation Act, 1923 is correct?

fa) The lump-sum or half-monthly
payment payable under the Act may
be assigned or charged or liable to
pass on to any person other than
the employee.

(b) A notice of compensation may be
entertained by the Commissioner,
even if the notice of the accident
was not provided when the accident
occurred.

{c) Any right to receive half-monthly
payment can under no circum-
stances be redeemed by payment of
a lump-sum of such amount.

(d) The half-monthly payment payable
under the Act may be reviewed by
the Commissioner in case there is
a change in the condition of the
employee.

149, Consider the following statements in

respect of granting exemption from the
operation of the provisions of the
Employees’ Provident Fund Scheme
under the Employees’ Provident Funds
and Miscellaneous Provisions Act,
1952 :

1. In case the appropriate government
is of the opinion that the rules of
provident fund as to the rate of
contributions of an establishment
are not less favourable than those
specified in the Act, exemption may
be granted.

2. In case the employees in an
establishment are in enjoyment of
benefits in nature of provident
fund, pension or gratuity, which
are not less favourable to the
employees than the benefits
provided under the Act, exemption
may be granted.
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3. Where such exemptions have been
granted, the provisions regarding
contributions (Section 6), and
determination of money due from
employers (Section 7A) under the
Act, will not apply.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 and 3 only
fc) 1,2 and 3

{d) 1 and 2 only

150. During the pendency of any proceeding

before a Board of Conciliation, Labour

Court, Tribunal or National Tribunal,

which of the following actions cannot

be taken by an employer under the

Industrial Disputes Act, 1947?

1. Altering in regard to any matter not
connected with the dispute, the
service conditions applicable to
a workman immediately before
the commencement of such
proceedings

2. Discharging or punishing a
workman for a misconduct that is
not connected with the pending
dispute

3. Discharging or punishing a
protected workman after instituting
a Disciplinary Committee against
him

Select the correct answer using the code
given below.

fa) 2 only
(b) 3 only
(c) 1 and 2
(d) 1 and 3

[ P.T.O.
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. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
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the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
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the Box provided alongside. DO NOT write anything else on
the Test Booklet.

. This Test Booklet contains 150 items (questions). Each item is printed both in Hindi and

English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

64



